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The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9–1) / O Level 
History, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2024 Examiner Report for further details and guidance.

Note: The questions for these example candidate responses were taken from 0470 Paper 11, June 2024 which differ 
to the 0977/2147 June 2024 questions. However, the question format and skills are the same.

The questions and mark schemes are available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

0470 June 2024 Question Paper 11

0470 June 2024 Mark Scheme 11

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
(b), (c) The candidate could have made sure that all of their arguments had a direct link to the question focus.

       The candidate correctly 
identifies a territorial change and 
says to which area it applies.

       The candidate identifies 
a second term – the loss of 
Alsace-Lorraine, and also states 
what happened to the area.

       This term is an accurate 
territorial change but is not 
relevant to the question 
which asks about changes on 
Germany’s western border.
Mark for (a) = 4 out of 4

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- or low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1

Common mistakes and guidance for candidates
(a)

•	 Some candidates wrote lengthy answers which were not necessary.
•	 When considering the territorial changes made to Germany in the Treaty of Versailles, candidates sometimes 

confused the Ruhr and the Saar, or the Ruhr and the Rhineland.

(b), (c)

•	 The explanations required candidates to consider the impact of the factor or event that they had identified. This 
would allow candidates to access Level 3 and above.

1

2

3

2

3

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well as 
helpful guidance from the examiner. This will help 

your learners to avoid these mistakes. You can 
use this alongside the relevant Examiner Report to 

guide your learners.
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Question 5

Example Candidate Response – high Examiner comments

       The candidate correctly 
identifies a territorial change and 
says to which area it applies.

       The candidate identifies a 
second term – the loss of Alsace-
Lorraine, and also states what 
happened to the area.

       This term is an accurate 
territorial change but is not relevant 
to the question which asks about 
changes on Germany’s western 
border.
Mark for (a) = 4 out of 4

       The candidate identifies an 
aspect of the Treaty of Versailles 
that angered the people and 
provides an example – the War 
Guilt Clause.

       The candidate explains a 
political consequence of the 
signing of the Treaty, and links to a 
particular group, so the response is 
awarded Level 3, 4 marks.

       The candidate attempts to 
link this sentence to the fall of the 
monarchy to the Spartacist uprising, 
but both events are prior to the 
signing of the Treaty, so are not 
relevant.

       The candidate identifies and 
describes a second aspect of the 
Treaty of Versailles, but the political 
consequences are generalised and 
lack explanation.

       The final point attempts to link 
hyperinflation to the rise of Hitler, 
but this is not linked to a political 
consequence, such as the Munich 
Putsch.
Mark for (b) = 4 out of 6

1

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate starts their 
answer by disagreeing with 
the statement before stating 
Clemenceau’s aim to treat Germany 
harshly, linked to the public 
pressure that he was facing.

       The candidate provides support 
for the argument, with details of 
the Treaty provided, indicating that 
Clemenceau did not dominate the 
discussions as he was not able 
to achieve his aims. At the end of 
this paragraph, the response has 
achieved Level 3, 4 marks.

       The candidate provides an 
alternative argument on the same 
side – that rather than Clemenceau, 
it was Wilson and Lloyd-George 
who dominated the discussions.

       The candidate provides 
examples of how Wilson and Lloyd-
George achieved their aims before 
explaining that this meant they 
were ‘very much at the forefront 
of the discussions’. This second 
explanation on the same side 
moves the response to Level 3, 5 
marks.

9 9

11

10

11

10

12 12
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Example Candidate Response – high, continued Examiner comments

       In the next paragraph, the 
candidate tries to provide balance 
to reach Level 4, but the terms of 
the Treaty are described rather than 
linked to the question focus.

       The candidate provides balance 
by considering how Clemenceau 
dominated the discussions since he 
was able to achieve a lot for France 
from the Treaty. This is supported 
by precise information, and by the 
end of the paragraph, the response 
has moved into Level 4, 8 marks, 
for one explanation on one side, 
and two on the other.

       The candidate attempts a 
conclusion, but this is summative 
rather than a comparative 
judgement.
Mark for (c) = 8 out of 10

Total mark awarded =
16 out of 20

13

14

15

13

14

15

How the candidate could improve their answer
(b), (c) The candidate could have made sure that all of their arguments had a direct link to the question focus.
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Example Candidate Response – middle Examiner comments

       The candidate states that 
Alsace-Lorraine was given back to 
France.

       The candidate provides another 
valid territorial change.

       The candidate provides 
additional information, explaining 
what the demilitarisation meant, but 
maximum marks have already been 
achieved.
Mark for (a) = 4 out of 4

       The candidate provides 
an explanation of a political 
consequence at the start of their 
answer. They identify that the 
Weimar Government was seen 
as ‘November Criminals’ as they 
signed the Treaty of Versailles, and 
that the consequence of this was 
the rise of Nationalists who felt 
betrayed. The response at this point 
is awarded the bottom of Level 3 for 
one explanation.

       The candidate follows the 
first explanation with an attempt 
to link the Spartacist uprising to 
the consequences of the Treaty of 
Versailles, but this is invalid since 
it was signed after the Spartacist 
Revolt.

       The response ends with an 
attempt to link the Kapp Putsch 
and Munich Putsch to the Treaty of 
Versailles for a second explanation. 
However, this is linked to the 
resentment of the government 
which has already been credited 
earlier in the response so cannot be 
awarded Level 4.
Mark for (b) = 4 out of 6
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Example Candidate Response – middle, continued Examiner comments

       The candidate sets out the 
argument they are going to make – 
that Clemenceau had considerable 
influence, but still did not achieve 
everything he wanted.

       The candidate explains that 
Clemenceau mostly did get the 
territorial changes that he wanted, 
and also recognises why he wanted 
some of these changes. This moves 
the response into the bottom of 
Level 3, 4 marks. The response 
states that not everything was 
achieved but does not link to the 
question focus. 

       The candidate identifies that 
another aim of Clemenceau was 
to prevent Germany being a future 
threat to France, and lists some of 
the terms that achieved this.

       The candidate recognises 
that Wilson and Lloyd-George had 
different aims, but this is not linked 
to the question focus.

       The candidate explains that 
Clemenceau achieved his aim to 
cripple Germany. This is the second 
explanation on the same side, so 
the response moves up within Level 
3 and is awarded 5 marks.
Mark for (c) = 5 out of 10

Total mark awarded =
13 out of 20

8

7

9

11

10

8

7

9

11

10

How the candidate could improve their answer
•	 (b) The response does not move up within Level 3 since the specific aspects of the Treaty that caused the feelings 

of ‘treason and revenge’ were not stated for the Freikorps and Nazis.
•	 (c) The candidate could have clearly provided arguments on both sides to achieve Level 4.
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Example Candidate Response – low Examiner comments

       Whilst the candidate starts 
the response attempting to give 
a change to Germany’s western 
border, reparations are not a valid 
example of a territorial change.

       The candidate provides a 
second example of a term of the 
Treaty of Versailles but it is a 
military rather than a territorial 
change.
Mark for (a) = 0 out of 4

       The candidate makes a valid 
identification of an aspect of the 
Treaty of Versailles that had political 
consequences for Germany. This is 
credited at the bottom of Level 2.

       The candidate’s explanation 
that follows the earlier identification 
links to economic rather than 
political consequences, and 
therefore cannot be credited at 
Level 3. 

       The candidate correctly states 
that the military restrictions made 
the people in Germany angry. 
The reason for the anger, e.g. the 
resulting increase in unemployment 
is not explained, and therefore the 
response moves to the top of Level 
2 rather than into Level 3.
Mark for (b) = 3 out of 6

4

5

2

1

3

4

5

2

1
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Example Candidate Response – low, continued Examiner comments

       The response starts with a 
description of Lloyd-George’s and 
Wilson’s aims; however, these are 
not made relevant to the question. 
Level 1 is awarded for description of 
the topic.

       The candidate identifies one of 
Clemenceau’s aims which moves 
the response into the bottom of 
Level 2.

       The candidate describes 
what happened to Germany in 
the Treaty of Versailles, linked 
to Clemenceau’s aims and 
therefore moves to the top of 
Level 2. The candidate makes no 
attempt to link these points to an 
assessment of whether this meant 
that Clemenceau dominated the 
discussions, therefore the response 
is unable to be awarded Level 3.
Mark for (c) = 3 out of 10

Total mark awarded =
6 out of 20

6 6

7

8

7

8

How the candidate could improve their answer
(b), (c) The candidate could have shown relevant knowledge of the subject content and been able to identify relevant 
points but was unable to reach Level 3 as they did not provide explanations. The candidate could have made more 
explicit use of the question in the answer to show how their identifications were relevant to the question focus.

Common mistakes and guidance for candidates
(a)

•	 Some candidates wrote lengthy answers which were not necessary.
•	 When considering the territorial changes made to Germany in the Treaty of Versailles, candidates sometimes 

confused the Ruhr and the Saar, or the Ruhr and the Rhineland.

(b), (c)

•	 The explanations required candidates to consider the impact of the factor or event that they had identified. This 
would allow candidates to access Level 3 and above.
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Question 6

Example Candidate Response – high Examiner comments

       The candidate recognises that 
a commission was established to 
help refugees.

       The candidate makes a second 
valid point – that they returned 
refugees to their country of origin.

       The candidate identifies The 
Nansen Passport as a specific 
example of the work of the League 
of Nations.

       The candidate states that the 
League’s economic difficulties 
hindered their work with refugees, 
but this is not the focus of the 
question and therefore cannot be 
credited.
Mark for (a) = 3 out of 4

       The candidate starts their 
response by identifying that the 
Manchurian Crisis was important 
because it showed that the League 
had no authority.

       By the end of the paragraph, 
the candidate explains several ways 
in which the crisis revealed the 
League’s lack of authority, moving 
the response into Level 3, 4 marks.

       The candidate identifies a 
second reason – that the crisis 
encouraged Hitler to invade other 
countries, but no mention is made, 
for example, of the reoccupation 
of the Rhineland, so the response 
does not move into Level 4.
Mark for (b) = 4 out of 6

3

4
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2

6
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5
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Example Candidate Response – high, continued Examiner comments

        This first paragraph clearly 
explains how the dispute over the 
Aaland Islands can be considered 
a success. It provides accurate 
support of what happened, and 
that a successful conclusion was 
reached since both countries 
accepted the decisions made. 
By the end of the paragraph, the 
response has reached Level 3, 4 
marks.

        The candidate attempts to 
provide another example of the 
League’s success, but the support 
is inaccurate and cannot be 
credited.

        The candidate attempts 
another example of success but 
describes rather than explains.

        The candidate provides 
balance with a paragraph explaining 
why the Corfu Crisis can be 
considered a failure of the League, 
so the response moves to Level 4, 7 
marks, for one explanation on each 
side.

9

8

10

11

9

8

10

11
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Example Candidate Response – high, continued Examiner comments

       The evaluation starts by 
arguing that the League was 
successful since it prevented wars. 
Whilst the candidate recognises 
that weaknesses were shown, 
they reach a judgement that one 
of the main aims of the League 
– to maintain world peace – was 
achieved. This is more than a 
summative conclusion, and the 
overall evaluation moves the 
response to Level 5, 10 marks.
Mark for (c) = 10 out of 10

Total mark awarded =
17 out of 20

12 12

How the candidate could improve their answer
(b) The candidate could have ensured that identified points were supported by specific contextual knowledge.
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Example Candidate Response – middle Examiner comments

       The candidate identifies the 
Refugee Committee.

       The candidate recognises that 
some refugees were returned home 
whilst others were relocated. A 
fourth point is not attempted.
Mark for (a) = 3 out of 4

       The candidate identifies a 
way that the crisis impacted on 
the League which is credited at 
the bottom of Level 2 for one 
identification.

       The candidate identifies a 
second reason for importance, 
moving the response to Level 
2, 3 marks. Neither of these 
identifications can be credited 
at Level 3 as they lack specific 
contextual support about the crisis.

       The candidate makes an 
additional identification, but since 
the response is already at the top of 
Level 2, it remains at 3 marks.

       By the end of this paragraph, 
the candidate explains how the 
credibility of the League was 
damaged by the inability to stop 
a large power. The response 
moves to Level 3, 4 marks for one 
explanation.
Mark for (b) = 4 out of 6

2

1

4

3
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Example Candidate Response – middle, continued Examiner comments

       In this first paragraph, the 
candidate does not address how 
the League dealt with international 
disputes which is the focus of the 
question.

       The candidate attempts to 
address the question focus, but the 
comments are generalised  
and descriptive and are awarded 
Level 1.

8

7

8

7
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Example Candidate Response – middle, continued Examiner comments

       The candidate accurately 
identifies a dispute that was a 
failure and the response moves to 
Level 2, 2 marks.

       The candidate explains the 
reasons why the League failed over 
Corfu and provides some contextual 
support to move the response to the 
bottom of Level 3, 4 marks.

       The candidate provides a 
summative conclusion rather than 
an evaluative one. The response 
is also still in Level 3, so would be 
unable to move to Level 5. 
Mark for (c) = 4 out of 10

Total mark awarded =
11 out of 20

9

10

11

10

11

9

How the candidate could improve their answer
(c) The candidate should have explained an argument on each side and supported their explanations with specific 
contextual knowledge.
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Example Candidate Response – low Examiner comments

       The candidate provides a valid 
identification.

       The failure of the League with 
Italy and Japan is not the focus of 
the question.

       This sentence could be 
relevant to the question but is too 
generalised to allow for it to be 
credited.
Mark for (a) = 1 out of 4

       The first sentence identifies a 
valid way in which the Manchurian 
Crisis was important, to be credited 
at the bottom of Level 2.

       This is a repetition of the 
previous point.

       The candidate makes a link 
here to the anti-Comintern Pact 
which is repeated at the end of the 
response. The pact was specifically 
against Soviet Russia, and no link is 
shown to the Manuchurian Crisis.

       The candidate makes reference 
to the Russia-Japanese War which 
is not relevant to the question.
Mark for (b) = 2 out of 6
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1
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Example Candidate Response – low, continued Examiner comments

       The question asks about the 
1920s, so the Manchurian Crisis 
and appeasement in the previous 
paragraph, and the Abyssinian 
Crisis referred to in this paragraph, 
are not relevant and cannot be 
credited at Level 2. Since reference 
is made to international disputes, 
Level 1 is awarded since it writes 
about the topic without addressing 
the specific question.

       The candidate makes reference 
to success with slavery here, but 
the focus of the question is on 
international disputes.
Mark for (c) = 1 out of 10

Total mark awarded =
4 out of 20

8

9

8

9
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How the candidate could improve their answer
•	 The candidate needed to make sure their answers addressed the focus of the specific question.
•	  (b) The candidate identified a valid reason for importance, but this was not supported by contextual knowledge or 

explained to reach Level 3.

Common mistakes and guidance for candidates
•	 When attempting a conclusion, it is important to take an evaluative rather than a summative approach. Candidates’ 

responses should consider the relative importance of the factors being considered.

(c)

•	  When dates are provided in the question, it is important that candidates take note of these. Some candidates wrote 
about events outside of these parameters and therefore could not be credited above Level 1. Careful attention 
should be made to ensure responses remain within the confines of the question.

•	  When asked to consider the success or failure of the League, it was important for candidates not to just describe 
the events, but also to explain why the result could be considered a success or failure.
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Question 11

Example Candidate Response – high Examiner comments

       The candidate identifies a 
way that Stresemann helped the 
economy, and the impact of the new 
currency.

       The candidate identifies 
the Dawes Plan and links to a 
development in the economy. 

       The Young Plan is relevant, but 
the candidate has already achieved 
maximum marks.
Mark for (a) = 4 out of 4

       The candidate identifies a 
reason for the Communists’ failure. 
Level 2, 2 marks.

       The candidate explains the 
impact of the Freikorps and links to 
specific uprisings so the response 
moves to Level 3, 4 marks.

       The candidate identifies the 
fear of communism as a second 
reason for failure.

       The candidate explains the 
impact of the fear of communism 
and this is linked to the failure of the 
uprisings. This second explanation 
moves the response into Level 4, 6 
marks.
Mark for (b) = 6 out of 6 

3

4

1

2

6

7
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3
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2

6
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Example Candidate Response – high, continued Examiner comments

       The candidate identifies ways 
in which Germany’s foreign policy 
was successful to reach Level 2.

       The candidate identifies 
another foreign policy success – 
entry into the League of Nations.

       The candidate explains the 
importance of Germany’s entry 
into the League of Nations and 
supports this with good contextual 
knowledge, so the response moves 
to the bottom of Level 3.

       The candidate explains the 
success of Locarno and the 
response moves up to Level 3, 5 
marks.

9

8

10

11

9

8

10

11
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Example Candidate Response – high, continued Examiner comments

       In this final paragraph, the 
candidate provides balance by 
explaining the cultural successes of 
Weimar Germany. The response is 
awarded Level 4, 8 marks for two 
explanations on one side, and one 
explanation on the other.
Mark for (c) = 8 out of 10

Total mark awarded =
18 out of 20

12 12

How the candidate could improve their answer
(c) The candidate could have attempted an evaluative conclusion which, if valid, would have allowed the response to 
be awarded Level 5.
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Example Candidate Response – middle Examiner comments

       The candidate answers very 
succinctly, and by this point in their 
response, has achieved maximum 
marks. The remaining points are 
valid.
Mark for (a) = 4 out of 4

       The candidate identifies and 
then explains how the fear of 
communism led to the Communist 
uprisings failing. By the end of this 
paragraph, the candidate has been 
awarded Level 3, 4 marks.

       The candidate identifies 
and then explains the role of 
the Freikorps. The response is 
awarded Level 4, 6 marks for two 
explanations.
Mark for (b) = 6 out of 6

       The candidate identifies the 
success of Germany’s film industry, 
and provides an example, but 
its success is stated rather than 
explained so the response is 
credited at Level 2, 2 marks.

       The candidate identifies a 
second example of cultural success. 
The impact is not explained and  
the response moves to the top of 
Level 2.

2

1

4
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Example Candidate Response – middle, continued Examiner comments

       The candidate attempts 
to provide balance through a 
consideration of foreign policy 
achievements, but these are 
identified rather than explained.  
The impact of events, such as 
joining the League of Nations is not 
shown, and the response remains 
at Level 2.

       In this paragraph, the candidate 
identifies some negative aspects 
of the foreign policy, but this is not 
the focus of the question, which is 
about success, and therefore this 
cannot be credited.

       This final paragraph is a 
summary of points that have 
previously been made.
Mark for (c) = 3 out of 10

Total mark awarded =
13 out of 20

8

7

8

7

6 6

How the candidate could improve their answer
(c) The candidate correctly identified successful aspects of both the culture and foreign policy of the Weimar Republic 
but has not explained why they could be considered successful.
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Example Candidate Response – low Examiner comments

       The candidate identifies the 
Dawes Plan, along with its impact.

       The candidate identifies 
a specific change made by 
Stresemann.

       The candidate states the 
impact of the Rentenmark.
Mark for (a) = 4 out of 4

       The first paragraph achieves 
Level 2 since it identifies that the 
Freikorps was created and that ‘this 
problem was resolved’.

       The second paragraph cannot 
be credited because it provides 
an explanation of why the Kapp 
Putsch failed, which is not the focus 
of the question which asks about 
communist uprisings.
Mark for (b) = 2 out of 6

       The first sentence is credited 
at Level 2 as a description of the 
cultural changes that occurred in 
Weimar Germany. The candidate 
recognises achievements in music 
and film, but their importance is not 
considered for Level 3.

       This section recognises that 
Germany was unable to join the 
League of Nations until 1926, but 
the answer should be focussed on 
achievements rather than failures.

       The candidate makes reference 
to the economic problems facing the 
Weimar Republic, but these are not 
relevant as the question asks only 
for a comparison of cultural and 
foreign policy achievements.
Mark for (c) = 2 out of 10

Total mark awarded =
8 out of 20
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How the candidate could improve their answer
•	  (b) The candidate’s response did not address the question focus. The candidate wrote about the Freikorps rather 

than the communist uprisings.
•	  (c) The candidate did not address the question focus. If the candidate had concentrated on the question 

requirement of achievements rather than addressing failures the response could have been credited at a higher 
level.

Common mistakes and guidance for candidates
•	 Candidates were often able to write generally about the changes to Weimar culture but were less able to provide 

specific examples to support their argument.
•	 Candidates should ensure that their answer is concentrated on the question focus. For example, (c) was about 

success, so arguments considering failure could not be credited.
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